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LABJNDu? triangle lightnesst*

t* Yoc=Yw - nc=100,

L AgaNDU7=IN(A 17 +AZY)(A2rAon)  (Yad100<Y<=Y,o)
L ABINDU7=IN(A 1+ A2X)(AgAon)  (EYTY)
t*\(3,6)=391t*,(18)=890,t*\,/(90)=1385

logit*/t* ]=0, m,=0,33

1
t*6g=1:85,411, A= )B666, A,=0,0876, ¢=0,84
t*15-8119,89 A,~C §14, A,=0,0048 =
t*3,6=391,3¢ =8/ §89 =18 ! agr?g"ga"m
» 1x,=1

— ] :.:II-:-i-:-:-:t:
wxy=0,2 xw=5

LABJINDu7
tristimulus value difference
Yo=Y - nc=100,
L AgINDU7=IN(A 17+ ALY (A2rAon) - (Yad/100<Y<=Y,o)
1 AgINDU7=IN(A 10+ A2 (A2iAon) - (X=YTY)
dY=Agn(A1r+AsnY)=Agn(As+AgX), See CIE 230:2019
dYoq=0,30, Ay=0,6666, A,=0,0876, ¢=0,84
dY,5=0,06, A,,=0,014, /4r=0,0048
dY3,6=0,02 Y,=18, dY=0,0¢ K
>
>
1,=890 dY,=0,06 d¥,/r,=0 L037.2 &

log (AY/Y) LABJINDU7

_ tristimulus value sensitivity
S=@vr) YotV nc=100
L AgINDU7=IN(A 17+ AZN Y (A2rAon) - (Yad/100<Y<=Y,o)
L AgaNDu7=IN(A 10t A2X)(A2iAon) - (X=YTY)
AYY=Ag(Arr+AonY)Y=Agn(Ag A )Y
(dY/Y}5-2 0033, 4,=0,6666, A,=0,0876, ¢=0,84
(dY/Y)g=C. 0057, A —'014, A 20,0048
(dY/Y} =0,0078 Y,=18, dY=0,06

application
log(dY/Y)E-2,42, m,=— o O . range
T-890 dY,=0,08 A¥,V.=0,00371 "
Ix,=1

xN=0,2 Xw=5

LABJINDu7
tristimulus value contrast
Yoc=Yw nc=100

L AgINDU7=IN(A 17+ ALY (A2rAon) - (Yad/100<Y<=Y,o)

tLaBINDU7=IN(A 10t A2 )/ (AoAon)  (X=YTYY)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

C,=(Y/AY)

=890 dY,=0.06 Vydv,=264

_J
log(Y/dY)=2,42, mu:o,1§ Je s S0
1
(Y/dY)g=298,17, A= 2553, 54=0,0878;
(Y/dY)g=264.7, A =0,014, Asrk0 004?}3? Foaton
(YIdY} 159,70 V,=28, 24=0, b&. \

7 XN=0.2  Xy=5

LABJNDu? relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

tLagaNDu7=IN(A 1+ ALY (A2rAgn) - (Yad100<Y<=Y,o)
1 ABINDU7=IN(A 10+ A2)/(A2yA0n)  (X=Y/YY)
t*n(3,6)=391 t*,(18)=890,t*\y/(90)=1385

thggft* =1,55, Ay,=0,6666, A,~0,0876, ¢=0,84
t*1¢/t*;=1,00, A =0,014, A,=0,0048
t*3 ¢/t*=0,43,,=889,89 Y=18
log[t*/t* J=0, m,;=0,33
1 application
range

=1

log(AY/AY,) LABJINDuU7 relative

tristimulus value difference
AN/N Yoc=Yw =100,

t*LaBINDU7=IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y, ()
t* 1 aBINDU7=IN(A 1AL (A Ao (X=YTYY)
dY/dY,=(A1ntAa)/(A1ntAz)

dYgo/dY,=4,43, Ay=0,6666, A,=0,0876, ¢=0,84

dY;g/dY,=1,00, A1=0,014, A.=0,0048

dY3 ¢dY,=0,31, Y,=18, dY5,06 4

t*,=89Q d 06 dY,/'r u_=(2 '_:_0?:7"‘

log [(AY/Y) 1 (AYIY),]

LABJNDu? relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
tLaganDu7=IN(A 1+ A Y (A2rAcn)  (Yad100<Y<=Yyo)
tLaganDu7 =IN(A 1t A2 (A2iAon) - (X=YTYy)
@YYV, =IA 10t AaX)/Xull (A 1n+Agy)
(dY/Y)of(dY/Y)-.88, Ay,=0,6666, A,~0,0876, ¢=0,84
(dY/Y)g/(dY/Y)=1.00, A =0'014, A=0,0048
(@YY J(@YIVILEG Y18 0Y=006

Ay
log[(dY/YY(dY/Y)]=0, m=-0,13
1 application
t*,=890 dY,=0,06 dY,/¥,=0,0037;  HEE

=1

log [(Y/AY) 1 (YAY),]

XN=0,2 Xw=5

LABJNDu? relative

tistimulus value contrast
ClCr=(YIAY(YIAY)y . =y, - =100

tLagaNDu7=IN(A 1A Y (A2rAgn)  (Yad/100<Y<=Yyo)

tLagaNDu7=IN(A 1t AX) (A2iAon) - (X=YTYy)

(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIdY}o(Y/dY)=1,12, A5,=0,6666, A,~0,0876, ¢=0,84

(Y/dY)g/(Y/dY)=1,00, A=0,014, A,=0,0048
(Y/dY);ve/(Y/dY),:O,Gzl Y,=18, dY=0,06

application
range

LABJNDu? triangle lightness T*

YoceL*w - ne=100,

T*LABINDU7=IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)

T*LaganDu7=IN(A 10t A2 X)/ (A2iAon)  (X=YIYy)

T+ (3,6)=301 T* ,(18)=890,T* (90)=1385
log[T*/T*]=0, m,=0,33 5

1
*9=1385,40, A =("6666, A,~0,0876, ¢=0,84
T*157889,89, 11:0 J14, 470,048 = = = -
T*3,6°391,38,1%, :8 {9,89 \(lzlg: ?al\:b&lllganon

CEU71-1A
logAY) LABJINDU7

AY tristimulus value difference
YocrL*w ¢ - n=100,

T*LABINDu7=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)

T*LaBaNDu7=IN(A 1+ A2 (A2 Aon) - (X=YTYy)

dY=Ag(A1rAgY)=Agy(Agr+AgX), See CIE 230:2019
dYeg=0,30, Ayr=0,6666, A,=0,0876, ¢=0,84
dY,=0,06, Ay=0,014, A, =0,0048
d¥3,6=0,02 Y,=18, dY=0,06

,
>

T*,=890, dY,=0,06 dY,/Y,=0, r\ﬁ

CEU71-3A
log (AY/Y) LABJINDU7

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’

T*LaBINDu7=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
T*LaBaNDu7=IN(A 1+ A2 (A2 Aon) - (X=YTYY)
AYIY=Por(A it AgnY)Y=Ag (A it AgX)/Y
(dY/Y}5=0,0033, A,=0,6666, /,=0,0876, ¢=0,84
(dY/Y)g=0.0037, A=0,014, A,=0,0048
(dY/Y} £=0,6058 Y, =18, dY=0,06

application

log(dY/Y)F-2,42 mu——O g range

T*,=890, dY,=0,06 dY,/Y,=0, 0037.
|>&I 1

XN=0,2 Xw=5

CEU71-5A
log (Y/AY) LABJINDu7

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

T*LABINDu7=IN(A 17+ A2Y)/(A2nAon)  (Yd/100<Y<=Yno)
T aganpu7=IN(A 10+t A (A Aon) - (X=YTY,)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

Iog(Y/dY):Z 42 m,= o 137

(Y/dY}o=298,17. #=0,6666, A}=0,087€, £=0 8%
(YIdY)g=264 76, An=0.014, A0 00430 plication
(Y/dY} 169,70 Y,=18, dY=0, > -1

=02 Xw=5

CEU71-7A
CEU71-7N

TUB-test chart CEU7; LABINDU*(Y) & T(Y), Yac=(Y&L*) WRCE

Lightness, sensitivity and contrasty#0,6666, A=0,014, A,=0,0049, A,=0,089

THT* LABJNDuU? relative triangle lightness T*/T*
THT* Yoc=L*w - nc=100,
u

T*LABINDU7=IN(A 10+ A2RY)/(AnAon)  (Ynd/100<Y<=Yoo)
T*Laganpu7=IN(A15+A2X)/ (A2iAon) - (X=Y1Yy)
T*N(3,6)=391,T*,(18)=890,T*y/(90)=1385

T*yfT*,=1,55, Ay,=0,6666, A,~0,0876, ¢=0,84
T*,¢T*,=1,00, A=0,014, A,=0,0048
T*3 T%,=0,43,T%,=889,89 Y18
log[T*/T*,]=0, m,;=0,33
L*,=49,T*,=890 —
1 application
range

=1

CEU71-2A

log(AY/AY,) LABJINDuU7 relative
AYIAY tristimulus value difference
u Yo=L*w -~ ne=100,

T*LABINDU7=IN(A 10+ARY)/(AnAon)  (Ynd/100<Y<=Yoo)

T*LABINDu7=IN(A 10t A2) (A2 Aon)  (X=YTYY)

dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=0,6666, A,=0,0876, ¢=0,84
dY,g/dY,=1,00, A=0,014, /70,0043
dYs,¢dY,=0,31 Y18, dY=0,06 %

y s

CEU71-4A
log [(AY/Y) | (AYIY),] LABJINDU? relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
T*LABINDU7=IN(A 10+ARY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDu7=IN(A 1ntA2) (A2 Pon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(dY/Y}of(dY/Y},=0,88, Ay,=0,6666, A,~0,0876, ¢=0,84
dYIY)g/(dY/Y)=s 0. A=0,014, A=0,0048

=
log[(dY/YY(dY/Y)]=0, m=-0,13
application
T*,=890 dY,=0,06 dY,/¥,=0,0033  HEE
%=1
XNn=0,2 Xw=5

CEU71-6A
log [(Y/AY) I (YIAY),] LABJINDuU? relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nc™

T*LABINDU7=IN(A 10+ARY)/(AnAon)  (Ynd/100<Y<=Yoo)
T*LABINDU7=IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIdY}o(Y/dY)=1,12, Ay,=0,6666, A,~0,0876, ¢=0,84
(Y/dY)g/(Y/dY)=1,00, A=0,014, /=0,0048
(Y/dY} ¢(Y/dY)=0,64 Y, =18, dY=0,06

log[(Y/dY)( YldYL] -0, mu 013

application
range

CEU71-8A

x=0,86, with more data
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